	1) A class of children are lining up in the playground. There are 3 lines of children, with 10 children in each line. Draw an array to work out how many children there are.





	2) Tom is putting his shoes in pairs. There are 5 pairs of shoes. Draw an array to work out how many shoes Ben has altogether.





	3) One monster has 2 eyes. Draw an array to work out how many eyes 4 monsters would have.





	4) A stool has 3 legs. Draw an array to work out how many legs 5 stools would have.





	5) A human has two hands. Draw an array to work out how many hands 4 humans would have.





	6) One monster has 4 arms. Draw an array to work out how many arms 2 monsters would have.







	7) A crab has 6 legs. Draw an array to work out how many legs 6 crabs would have.





	8) The children in the class are standing in rows. If they stand in 5 rows, how many children will be in each row? Draw an array to help you find the answer.
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	9) There are 7 monsters and each monster has 3 eyes. How many eyes altogether?





	10) If 9 people have a pair of shoes each, how many shoes are there altogether?









